]FERE
W 1004 Ei&FfE: 90 4%
—, EERE (ES/MNEAHRUANETF, RE—HEFEEEERK, 8/ME5a, 3£8/ME; 3£40

)
1L OHESA={xENO0<x<5}, B={xI2—-x<0}, WAN(GRB)=( )

A. {1} B.{0,1} C.{1,2} D. {0,1,2}
2 fESVIN, HHz =2 GOVERECRRD MR AT ()
A IR B. 5 RUK C. B=% D. PR
3. AR S ~ L =1 (a>0, b>0) M—HUHTLA y = Vox, WHMANELEN ()
AL B.2 C.\5 D.V6
x+2y>1,
4. B x, y WRARKM x -y <1, Mz =x—2y MEKEN( )
A. -3 B.1 TER C.3 D.0
5. S LM {a,) . a5 = 6, WIHHI {logea,} HURT 9 HIAISET ()
A6 B.9 C.12 D. 16
6. Ll cos (5 —0) =3 Wsin(T+0) MR )
Al B.22 c.-1 D.-22

7. MR EECE 1 2, 3MIEALERARE R 2, 3 P EUERAAERCR AN ER, U ECAS 9 ER A A
HWAMFEKBERNC )

A B.Z C.2 D.2

8. BERREL f(x) MISRECH f'(x), MMEE x e RESH f'(x) > f(x) ar, W )
A.3f(In2) > 2f(In3) B. 3f(In2) = 2f(In3)
C.3f(In2) < 2f(In3) D.3f(In2) 5 2f(In3) K AK/NAHE

. HEE Gt4E, BB AG, FR164)
9. DA d=(x+12), b=(-1x). #d5bEH, N |b=
10. i 3t € R, t2 — 2t —a < 0772, WISEE a HOEUE G 2
1L —FIE A (=2, -3) it Ht, 2y RSB 5B (x+3)° +(y—2)° =LY, RS LR Fi e T 22t
12. CEIIUEL C:y? = 8x, i P(0,4), M ALEIMMIZ b, 2 A B MES | IR S s A 35 P IR
B AR /N, SEK AF SZIZT R B, W A AOB (TR A
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13. A8 10 43)

&l a, b, ¢ AABC =W A, B, C Xill, ¢ =+/3asinC — ccosA.
(1) 3k A;
(2) ¥ a=2, AABC WHA AV, Kb, c.

14. CARE 10 43

CAIEERY] {a,} HL: a3 =7, as+a, =26, {a,} AT n TAA S,.
(1 K a, M S,;
(2) &b, = ﬁ(n eN,), KREF {b,) IKIT n T T,,.
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15. CAR# 12 43)
£ 2 €5~ 2 = 1(a > 0,b > 0) 1) BOHENVE, HEHIK N 2v2.
(1) kML ¢ T
() CHBEL x—y+m=0 50 ¢ TFARRAMME A, B, HLZLE AB M SER x2 +y2 =5
b, Rm B
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16. (A 12 73)

W f(x) =e*—ax — 1.
(1) HRELf (o) MEIRLE x = 0 eMIZTAT T x Hill, 3K a A1 £ (x) 7E [0,2] B/ ME:
(2) HREL f(x) 7£ R ERIHEEE, K a BB
(3) Ha>0n, BEREf(x) MNERIMEAN g(a), KiE gla) <0
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RE 185K
DBDBB ABC

[%%])9.42 10. (=00, —1] 11. —%ﬁ —% 12. 445

13. (1) ¢ =+/3asinC — ccosA M IF % E A

V3sinAsinC — cOSASING = SINC wovvvveeeeieseeeeee e, 29
T sinC #= 0, Frbd
; _m_1 y;
sin (A 6) =S 45y
Y0<A<T, E&A=§. .................................. 5 4%

(2) A ABC WTHIFRS = %bcsinA =43,

WUDC =4y T, 75

a? = b?% + ¢? — 2bccos4,
B C?2 4+ b2 =8, oo 9%y
IR D = C= 2. oo, 10 %y

a1+2d=7, y:
(o 20 2 26, v 24
ﬁﬁ/%'ﬁa1=3, d=2’ .................................. 3%
a,=34+2n—1)=2n+1; S, =3n+——=X2=n?2+4+2n. ....cccoe.o.....
T A 3+2(n—1) =2n+1: S, =3n+""2x2=n2+2 5 /)

(2) B (D Ha,=2n+1,
\ 1 1 1 1 1 (1 1
P by, = o == T G=5)

1~ (2n+1)2-1 n(n+1) 4

> (it 11, 1 1TN_1 (,__1tT\__nmn
FﬁUTn—4 (1 2+2 3+ +n n+1)_4- (1 n+1)_4(n+1)’
Y ‘J_L‘ _ n yi
BI%e41 {b,} WIHT n WA T,, = TOD) e 10 %
15. (1) HEE, '%§=\/§, b?=c?—-a?=2,
Fﬁua=1’ C=\/§.
Fr LR R XU 2 ¢ BR8N x2 —y? = L 5%



(2) & A, BWERIAFRDIN (e, y1)s (X, y,), B AB B SN

M (X0, V0) s eeneeneeaeeaee e 6 7
xz_y—2=1 4

i 2 X2 =2mx—m? —2=0, . 8
x—y+m=0

F}Tux(,:hT”z:m, Yo =Xg+M=2M. coiiiiiiiiiiiiiiieiee e, 9/4r

Fﬁu)ﬁ: M(XO,yo)%E x2+y2 =5J:,

FTLAm2 + (2m)2 =5. oo, 11 %

FThm =41, i, 12 %7

16. (1D FAf(x)=e*—ax—1,

Frbh f'(x) = e¥ —a,

FERALf (x) FIEIZRAE x = 0 eIPIZ AT T x Bl
FiLhff(0)=1—a=0, fFa=1, cccccriiiiiriiiiiiienen, 24y
Ma=1K, fx)=e*—x—1,

fllx)=e*—1=0, x€[0,2],

FirLA f (x) £ [0,2] 3%,

FTEA £ s = F(0) =05 v, 45y

(2) AN f(x) =e* —ax — 1 7E R L HiFIHHE,
Frbd f'(x) = 0 fEEOL,
Bl f(x)=e*—a=0THROL, v 6 4
Bl a < e,
Kk e* >0,
il a <0,
S a THUETERIE (—0,0]5 o 81
(3) a>0, Hf(x)=e*—a<0, % x<Ina,
Hf(x)=e*—a>0, 18 x> Ina,
Bl x =Ina B, f()min = f(Ina) = a — alna — 1,
Blgl@)=a—alna—1, ....ccoovviiiiiiiiiiinnn, 10 7

M g'(a) = —Ina,

H —lna=0, ffa=1,

Fibh g(a) < g(1) =0,

FTLg(a) 0. oo 12 4y
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